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1  =>4;�  �	
� ?�@%�A  

  �	
�  

1  ������ B"# C����1�� D�E@ ���	� ����> B"# �FG� �0��� )��	6�� H��I ���� $ ?�@%� %!- ��J ���!8� 
&  K��L �M61 N��@ �
7 => �"�@ ;� ) �E�P8� !E@�1 (������� )&�*� $ Q�R
:  

1.1  � �� +,�
��� T����U� ��E@����:�� ��M61P��N��@ �
7 => �"�@ ;� $ V��   !W<�� B,(LoS)X  

2.1  �1��
 �� +,�
��� T����
 .�/0��� )�Y�-	-%�!�� )�"����:�� � N��@ �
7 => �"�@ ;�  $ !W<�� B,(LoS) 
X%%!��� Z�"@ [\@ T1���� ]!,� )��
,
  

2  C����1��������� ����!8� ������ )�""# ]
� $  � )�%%!��70-1 GHz )�"^ T_� '�� )&�*� $ �̀<-!�� 
&� �6��� )����	� D
2�/� ?�a)K�/�� $(:  

1.2   �F� C����1� ���� $ ������� )&%��8� +���/� $ �%��	�� �-
���� ��<@�b� c	W\�� )�""#
0<��H  ( ;� ��� ��


��
���� �=> �</0��� A  ;� ��\��&� �-�
d°0 => °90 ���% ) .e68� !E@�1:(   

  ( )

⎪
⎪
⎪
⎪

⎩

⎪
⎪
⎪
⎪

⎨

⎧

°≤θ≤θ
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
+⎟

⎟
⎠

⎞
⎜
⎜
⎝

⎛

θ
θ

+−

θ<θ≤θ++−

θ<θ≤⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
θ−

=θ
−

90forlog1012

for1log1012

0for12

)(

3

5.1

3

0

340

4

2

3

0

kG

kG

G

G (1a) 


: 

  01.0

3 106.107
G−×=θ  (1b) 

  ( )1log
2.1

1
134 +−θ=θ k  (1c)  

f��:  

G(θ):   g/M���</@ ���0�8� ���	h� => (dBi) 

  G0:   ?��	i 
� ��jU� k	�/8� $ g/J 5Wl�(dBi) 

θ:  � ��6"8� ������ ��\��&� �-
�m�</0� g/J 5Wl� �-
�d => ))���
���( 

  θ3 :   Z�"0�� n!73 dB k%	���� k	�/8� $ )�
���)��(  

k:   ��6�8��%�-d g/o '�� ���	� => �</0��� p�l	� ;Mq �� Z	j r@�b� s\�� )�-	1  c	Wj s��W, kR
 �0/^ ��<@��) !E@�3.2
 4.2 ;� �	
�(X  
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2.2  )&�� $ ������� )&%��8� +���/� c	W\�� )�""# - '�� �"1	�8� ������� ��<@�b� �t��> uG
0<��v  ( ;����� 
�� ;� �� w
�!�� '�� ��\��&� �-�
d +°0
 °90)  ���e68�1
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V�: 

 ( )1log
2.1

1
25.135 +−θ=θ k  

 f��θ 
θ3
 


 G0
 k $ �t07 x��
 �j!��
0<�� 1.2  ;��	
�X  

3.2   ]
8� $ +��� )����	� D�
2�1� )&�� $GHz 3-1 ��6�8� �	M� �� �y<0- K 0,7X  

4.2   ]
8� $ ;/^ ��<@�� c	Wj z�%� )�R )����	� D�
2�1� )&�� $GHz 3-1 ]
8� $ �6����� )����	h� $
 
GHz 70-3 ��6�8� �	M� �� �y<0- AK 0X  

3   ;� %%!��� ]
� $ +���/� �F�GHz 1 4�	� => GHz 70 '�� )�"Y� $ ������� ����!8� ������ )�""# 
"l )����	� D
2�/� ��m� �e�\� ��7�dB 3 ;� +lU� K�/�� ]	�/� $ °120 �̀<-!�� ) .e68�4 �E�P8�
 4(X  

1.3  H $ �%��	�� �-
���� ��<@�b� c	W\�� )�""# ���� $ ( ;�
��
���� � ��� �� ������� )&%��8� C����1� �y<0- 
 �� ��l�	�� ��\��&� �-�
m�°0
 °90�� K�/�� �-�
m�
  °180−
 °180)  �E�P8�2:(  

  )(),( xGG ref=θϕ  (2a1) 
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arctan (2a2)  
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2
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22

33
)cossin()sin(

)cos(sin)(sin

θ⋅ϕ⋅θ+θ⋅ϕ
θ⋅ϕ+θθ⋅ϕ=             )���%   

 )cosarccos(cos θ⋅ϕ=ψ           )���% (2a4)  
 αψψ= /x (2a5) 

f�� :  

  ϕ:  /@ K�/�� �-
�d 5WlU� g/M�� �-
�d => �<))���
���( 
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  ϕ3:   ���
l ��m*� �e�jdB 3 K�/�� ]	�/� $ ))���
���) ( ���	h� ��m� �e�j �%�7 k
�/�
�7�"���.(  

 $ ]!,� )��6��
 )�uy�� %
o
1.2 ;� �	
�:  

1.1.3   ;� 
��8� %%!��� ]
� $GHz 1 4�	� => GHz 6)  .e68�6(  
2

0 12)( xGxGref −=     =>kxx <≤0  (2b) 

)log(1012)( 5.1

0 kxGxGref ++−= −       =>4<≤ xxk    

)log(15)( 0 xGxG kref −λ−=   =>    4≥x   

 V�( )kk 81log1012 +−=λ
 kx
k

36.01−=X  

1.1.1.3  � �� �y<0- ��"| )����	� D�
2�1� )&�� $ ��6�8� k
�/k 0,7 A)�	M� 4�����
 = 0,7 3,8 = λk
 0,86 = xk = 0.7(X  

2.1.1.3   �� �y<0- A;}/^ ��<@�� c	Wj z�%F� )����	� D�
2�1� )&�� $�	M���6�8�  0 = k) 4�����
 = 0 12 = λk 
1 = xk  = 0(X  

2.1.3   ;� 
��8� %%!��� ]
� $GHz 6 4�	� => GHz 70:  
2

0 12)( xGxGref −=    =>10 <≤ x  (2c) 

)log(1512)( 0 xGxGref −−=     =>x≤1    

2.3  v �!�\�� �t��> uG� '�� �"1	�8� T����� ��<@�b� c	W\�� )�""# ���� $ ( ;��������� � 	
� �
 $ n�!IU
 A
8� D�
2�1� �y<0- A�̀���W�> +,�
��� !-
�� �� ��l�	�� ��\��&� �-
m� ������� )&%��0
 90 �� K�/�� �-�
d
 °180−
 °180 

) .e68�5 �E�P8�
 2:(  
  G(φ, θ) = Gref(x)  

1.2.3   ;� 
��8� %%!��� ]
� $GHz 1 4�	� => GHz 6)  .e68�6:(  
2

0 12)( xGxGref −=   =>kxx <≤0    

)log(1015)( 5.1

0 kxGxGref ++−= −   =>4<≤ xxk  

)log(153)( 0 xGxG kref −−λ−=   =>4≥x  

 V�( )k
k

81log1012 +−=λ
 kx
k

36.025.1 −=X  

1.1.2.3   �� �y<0- ��"| )����	� D�
2�1� )&�� $�	M� ��6�8� k = 0,2 ) �	M� 4�����
= 2,5 7,85 = λk 
= 0,2 1,08 = λk(X  

2.1.2.3   ��6�8� k
�/� �� �y<0- ��<@�b� c	W\6� ;/^ z�%F� )����	� D�
2�1� )&�� $k = 0 ) 4�����
12 = λk = 0 


1,118 = xk  = 0(X  

2.2.3   ;� 
��8� %%!��� ]
� $GHz 6 4�	� => GHz 70:  
2

0 12)( xGxGref −=   =>152.10 <≤ x  (2e) 

)log(1515)( 0 xGxGref −−=   =>x≤152.1  

3.3   ���
l ��m� �e�\� ��7�"��� )����	h� D�
2�1� )&�� $dB 3	�/� $ k ;� +lU� K�/�� °120 �	M� A�<-!�� 
 ��m*� �e�j
 5WlU� g/M�� �� �lP���dB 3	�/� ;� +J $ k	�/8�
 K�/�� k 4	l�G�� 4����J �̀�l~� ) .e68�3 

E�P8� �4:(  
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ϕ
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− G

  (3) 

 �!�\�� $ �%
^ )��6�8� V�� f��1.3 ;� ����X  

4   ;� 
��8� %%!��� ]
� $ +���/� �F�GHz 1 4�	� => GHz 3 '�� )�"Y� $ ������� ����!8� ������ )�""# A
 ��m*� �e�j => �</@ k!��% !��0�� g/M�� �_\20� )����	� D
2�/�dB 3 ;� +l� �/��!�� s\�� $ ���	� g/J
 dBi 20 

�̀<-!��:  

1.4  H �!�\�� $ �%��	�� �
���� T��� ��<@�b� c	W\�� )�""# $ ������� )&%��8� C����1� �y<0- ( ;� � ��� �	

 
��

���) .e68�2 �E�P8�
 3:(  
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⎠
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−

=

180for8

forlog3214

1.08for14

08.10for12

)(

2

21

1

0

130

3

3

0

2

θϕ

ϕθϕ
ϕ
θ

ϕθϕ

ϕθ
ϕ
θ

θ
G

G

G

G  (4) 

f��:  

  G(θ) :  � ���	� => �</@ g/M��w�� (dBi)  

  G0 :   r@�b� s\�� $ ���	h� g/J(dBi) 

  θ:   �	Y� v��, �-
�d))���
���(  

  ϕ3:   ��m� �e�jdB 3  g/M�� �\20� ���	h))���
���( = 01.0
1000027

G−×) )���
���(  

  ϕ1: ϕ3 1,9 ))���
���(  

  ϕ2:  32/(G0 – 6)10×ϕ1 ) )���
���(X  

2.4  �""# ���� $ +���/� �F�v �!�\�� $ �t��> ��G8� �"1	�8� T����� ��<@�b� c	W\�� ) ( ;�
��

��� � ��� �	 
 ���	��� $ %��	�� ���	h� B"28�ITU-R F.1245X  

5  ���	��� ?�� ;� �̀�1�1� �̀zm� ������� )�E�P8� x��� �F�:  

��	
�� 1  � k�
!_�� ;� ]��Wl C��\�� ���	h� B"28� C����1& 
tb� +,�
��� !-
��
 .�/0��� )�1��% $ �6�.  

��	
�� 2 � ��\��&� �-�
d g/J 
-
o +�� ;� ���- θ′ ;� °0 => °180	�/8� $ k ������ %
e�� �� 4	l�G�� x �-�
d $ 
 Z	j ��\��&�°90 ��\��&� �-
�m� ����8� ������ C����1�� )θ′-°180 ( AK�/�� �-
�m� ��j���� ������ 
07� k180 ± ϕ.  

��	
�� 3  � ��6��6� �\6�28� T���� ��0�/� k ��!�\�� $ 1.1.1.3
 1.1.2.3 T����
 �
���� �\6I� => �̀%�0�1� ��	� ;� 
 �� �	WY� %%!��� ]
� $ �1��8� ��"�0�� )����	h� )�""# ;� %
7 $ ��<@�b� c	W\6� �"1	�8�1
 6 GHz.  

 ��	
�� 4�'�� ���*� $  �6�� g/o '�� Q6� ;7 ��/��!�� ��m*� �e�j �t�j $ ��%��8� 3 ��6�� C����1�� 5�	- A
 +,
��3θ.  
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 ��	
��5  � .e68� $ %�
 ��J A
��	� �	��� +��7 C�
<�1� � 3 . ��6���� p<</� k��� k!E0�� F"�� �	M- Q��� ����@

 ;� +l� ��<-!����%5 )�e�\�  Dm*�dB 3	�/8� $ k 4	l�G�� ;7 +�� '�� °45.  

 ��	
��6 � �!�\�� $ %��	�� ���!8� ������ B"# �̀1�1� .<"0- 1.4 ;� ����- & '�� )&�*� 567  g/J �t�j d
���
 �/��!�� s\�� $ ���	h�dBi 20A ���	��� �h �"��
 ITU-R F.699��j�
 uI ����@  .� ]
8� 
-
o ��� )�%%!�6� +��M�

�1��
�� ;� �̀
-m� g6"��j A)&%��8� D
2�/� f�� g/M��
.  

 ��	
��7  � C����1P� �̀W�W, T�W� �7�"l ���	� ���l ����@ �<� $ %%!��� GHz 20 C�:��&� ;M�8� ;� p@� �̀<-!�� 
!:J� ��<@�� c	W\�� ����� ���!� !:J� ���!� B"28 . B"# !-	"� g6"�-
�/�+:�  ;� �̀
-m� +�<��� ��� ;�

�1��
��.  

����� �1 

��	
�� 
�� �
�
��� ���
� �
������� �	���� �
	��� !"#  
$
%& '() *+ �"%& ,� -�./���� �0��� ��1&2 3  

1  ����  

 �h�<��1�
 )������ C�1�� )���a&� +��� ���	h� �%�7 +���/-$%�!�� +�!8� ��E@U �-mJ!8� )�"Y�  �"�@ ;� k	-
N��@ �
7 => . T1����� 567 +��G� '�� )�1��
�� K6���1�
?�� �� ��
�� ��E@�
 k	-%�!�� +�!8� ��E@U N�|U� 

 Z�"0�� $ ����_\��GHz 2 �0� %��	�� ���!8� ������ B"#.  

2  ����  

&� +��� ���	h� �FG� ������� )���!�j&� 567 ���!8� ������ B"# 
���-)���a:  

�   �", ��\� ���	h� �� ;� ��~�n  �̀!W07 VG-��!7 ����> H	61F�X  

�   ��\W�� !��07 �� n!�\-H�"lU� ����0LX  

�   ��\W�� !��07 �
7�<� ��3λ/4.  

� B<�!�e�j ��m*� 3 dB Aϕ3 $ ��\W6� A8� k	�/4	l�G�� ����a&�� D������� ��%��8�� A)  �-!���� !E@�D .e68� $ 3(:  

                dBi [ ]4.172/1818.00.191log10
3
−+= ϕD   (5a) 

 ��%��8� +� ;Mq)5a ( ����6�ϕ3����a&� �j!�� 
07 :  

 

818.0

1

23 −
=

α
ϕ  (5b) 

 

0.191

4.17210 1.0 +=
D

α  (5c) 

 �� �lP��� K��0�1��e�j ��m*� 3 dB $ 8� k	�/4	l�G�� ������ B"28 g1�08� g-!���� n�!�j�� ����a&�
  $
8� k	�/4	l�G��������� ��%��8�� :  

θθ mf cos)( = 
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 f��m �� B�!6� K6���1� A����<�7� ��6�� �e�j ��m*� 3 dB $ ������ B"#
 8� k	�/4	l�G�� .C����1��
 ��� 
 g-!����567 C	W*� � B"28� ��
� ����a&� K�/��
 4	l�G�� �-	�/8� $.  

���� ��%��8� ��	��", ��\W� 
��<�� C��� �j�:J ���)����	h� ;� :  
  )()()( θθθ AFEE

eT
⋅=  (6) 

f��:  

  ET(θ):   C��� +��JE � �-
�mθ �M<G�� �	Y k%���� ]	�/8� $  

  Ee(θ):   C���E � �-
�mθ k%���� k	�/8� $�M<G�� �	Y  
��
 !W07 g</� �M<G�� ;� 

  AF(θ):   ��\W�� +��7� �-
�mθ 8� $k	�/�M<G�� �	Y k%���� .  

 C��� �	M-E !W0�� [��8� ���0Lg"��� :  
  θθ cos)( =

e
E  (7) 

��\W�� +��7 �	M-:  

 

( )
( ) ⎥

⎦

⎤
⎢
⎣

⎡=
2/sin

2/sin1

ψ
ψN

N
AF

N
  (8) 

f��:  

  N:  ��\W�� $ !��0��� %
7  

  ⎥
⎦

⎤
⎢
⎣

⎡= θ
λ

πψ
sin2

2

1

2

d
 

  d:  8� �
7�< ��7��G8�)� 

  λ:  ��	8� C	�.  

 
l
4���� z�!��� +���1� A!��0��� %
7 !-
��� N��\W�� $ A .��\W�� ����a� .��"- ��\W6� g/J 5Wl� �� n!�\-
.  

�   ��m*� n!7 H�/* ��\��&� k	�/� $ )���a&� +��� ���	t6� g/J 5Wl� +���/-3 dB Aθ3 A
 ���%��8��(5b)
 (5c)X  

�   �	Y� v��, g/M�� $ +��_�� g/M�� +�t-;7 ���0�� !W0��� ��0L� +��7 ���l �� 57�!-
 Ag"��� 

 ��\W��AFN �	M� 0,707) �3 dB ( ������ �	M� ��
07396.1
2

=ψ
NX  

�   ���l %
oN ��
07 � %
���e�������� ��%��8� $ A:  

  
⎟
⎠

⎞
⎜
⎝

⎛ θ
λ

π

×=

2
sin2

3916.12

3d

N  (9) 

 f��|x | d
���� & �e�e� ���l xJ�x.  

 [��8� �	Y� v��, m������∆D ��%��8�� �������:  

          dB[ ]θcoslog20 ×=∆
N

AFD  (10) 
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 ��%��8� K��l)10 ( �	Y� v��, �-
�m�� ��&
�)��\��&� �-
�d k� ( T�l �
��g/J 5WlU .��@
 ]
8� $ T���� => �</0��� 
 ;�8 => 13 dBi���� )&%��8�� ��\��&� k	�/� $ ������ B"# �Py� g1�08� g-!���� ;Mq p@� ���:  

  [ ])(),(max)( 21 θθ=θ GGG  (11a) 

                 dBi 

2

3

01 12)( ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
θ−=θ GG (11b) 

                 dBi

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

+
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

⎭
⎬
⎫

⎩
⎨
⎧

θ
θ

+−=θ
−

kGG

5.1

3

02 1,maxlog1012)( (11c) 

  

 f��k �� 8� ��6��!�� '�� ;7 r@�b� s\�� )�-	1 �%�-d  ]	�/8�=> �</0��� Vl	�8�  ���	� c	Wj s��W, kR
�0/^ ��<@��.  

� ;� C�M�U� ����1 => 4 ��%��8� ;� �
�	8� �-!E0�� ���	h� )�""# V� ���!8� ������ �\6I� )11 ( ;� g/M6�8 => 
13 dBi +����� C����1�� k = 0 . ;� C�M�U� �����
5 => 8 �1��8� ���	h� )�""# V� ����!8� ������ �\6I� 

 +����� C����1��k = 0 . +MG�� ;� �_�-
7 +MG��
 8�	M� ��<@�b� c	W\�� �� �%�  � 4�	15 dB �-	1 ;� !:J� 
� 
 r@�b� s\�� )�
�R ;� �uy� �-	�� �</0� ��/- �� A�/��!�� s\���������� ?�� ]
���  . +:� ��6���� +��	��� �� &>

-m�1 v��@�� �	0�
 Z�"0�� ��	�
 B"28� �	�
�
 +\1U� => +�8� z��!tJ C����1�=> ��<@�b� c	W\�� 
4�	�  10 dB 
]	�/� Ko $ �/��!�� s\�� �� )�<�J!���6�\�� . +����� �
t-
k ��%��8� $ ?P7� �	J�8� )8 ( )�-	1 $ �	0��� m��� =>
r@�b� s\��. 
 �PMG�� D
�-9 
 10 �@����  g/M� ���	�10
 13 dBi
07 %%!�  2,4 GHz ������ B"# �PI V� 

!8� ������� A���k = 0,5 . +����� +:q
k = 0,5r@�b� s\�� )�-	1 Ko ��l�	��  �/��!�� s\�� �
�R � 4�	15 dB .
 +����� C����1� g�
k= 1,5  r@�b� s\�� )�-	1 $ ��j���� )�%�-m�� ��7�!8 ��"�0�� )����	t6� 6� )�<�J!���
�� �� A

r@�b� s\6� )�-	1 +:qKo � �-	1 �/��!�� s\� � 4�	10 dB . �PMG�� ��	- �̀u,�
11
 12 T�l �
7 C����1� !L� 
k )�""# 567 A	�/8�k4	l�G�� .  
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+MG�� 1  

 ��	
�� �
� ����� ����� �	���� �
����	
��
���   
�	���� �
�� ������� !"#�� $% �&'	��	(  

dBi 10 = G0 �0 = k   

1336-01 

0 10 20 30 40 50 60 70 80 90 

0 

– 5 

– 15 

– 10 

– 25 

– 20 

– 30 

(��������) ��	
��� 
����

  

+MG�� 2  

 ��	
�� �
� ����� ����� �	���� �
����	
��
���   
�	���� �
�� ������� !"#�� $% �&'	��	(  

dBi 11 = G0 �0 = k   

1336-02 

0 10 20 30 40 50 60 70 80 90 

0 

– 5 

– 15 

– 10 

– 25 

– 20 

– 30 

(��������) ��	
��� 
����

 

 �
���

���
(d
B
)

 

 �
���

���
(d
B
)
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+MG�� 3  

 ��	
�� �
� ����� ����� �	���� �
����	
��
���   
�	���� �
�� ������� !"#�� $% �&'	��	(  

dBi 12 = G0 �0 = k   

1336-03 

0 10 20 30 40 50 60 70 80 90 

0 

– 5 

– 15 

– 10 

– 25 

– 20 

– 30 

(��������) ��	
��� 
����

  

 +MG��4  

 ��	
�� �
� ����� ����� �	���� �
����	
��
���   
�	���� �
�� ������� !"#�� $% �&'	��	(  

dBi 13 = G0 �0 = k   

1336-04 

0 10 20 30 40 50 60 70 80 90 

0 

– 5 

– 15 

– 10 

– 25 

– 20 

– 30 

(��������) ��	
��� 
����

  

 �
���

���
(d
B
)

 

 �
���

���
(d
B
)
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+MG�� 5  

) *	��� �	���� �
� �&'	�% �	���� �
� !"+ ��,���-	.	/0� 1%	� ����2  
 �34(11 dBi 15�� 6	

�� 7 MHz 944-928 8k = 0  

  
  

  
  

+MG��6 

-	.	/0� 1%	� ����2 ��,��� �	���� �
� !"+) *	��� �	���� �
� �&'	�%  
 �34(8 dBi 15�� 6	

�� 7 MHz 1 990-1 850 8k = 0 
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+MG�� 7  

 �5���	( ��,��� �	���� �
� !"+) *	��� �
��� �&'	�%k = 0  
 �34( -	.	/0� 1%	� ����210 dBi 15�� 6	

�� 7 1,4 GHz  

1336-07 

0  

–  5  

– 10 

– 15 

– 20 

– 25 

– 30 

– 35 

– 40 
270 300 330 0 30 60 90 

k  =  0  

������ � (��	
��� � )

  
�����A

  
�����B

  

+MG�� 8  

 �5���	( ��,��� �	���� �
� !"+) *	��� �
��� �&'	�%k = 0  
 �34( -	.	/0� 1%	� ����213 dBi 15�� 6	

�� 7 1,4 GHz  

1336-08 

270 300 330 0 30 60 90 

0 

– 5 

– 10 

– 15 

– 20 

– 25 

– 30 

– 35 

– 40 

k  = 0 

(��������) �	
����

 
�����A

   �
��

ا��
 �

�
��

ا
(d
B
)

  

 �
�

	�� 



�
��

�
(d
B
)
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+MG�� 9  

 �5���	( ��,��� �	���� �
� !"+) *	��� �
��� �&'	�%k=  0,5  
 �34( -	.	/0� 1%	� ����210 dBi 15�� 6	

�� 7 2,4 GHz  

  

+MG�� 10  

 �5���	( ��,��� �	���� �
� !"+) *	��� �
��� �&'	�%k = 0,5  
 �34( -	.	/0� 1%	� ����213 dBi 15�� 6	

�� 7 2,4 GHz 

  

 �
�

	�� 



�
��

�
(d
B
)

 

k = 0.5 
������A

������B

����	
�)��
��
��( 

 �
�

	�� 



�
��

�
(d
B
)

 

k = 0.5 
������A 

����	
�)��
��
��( 
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+MG�� 11  

 9�: �;��� ��,��� �	���� �
� ��;+<k  
 �34( -	.	/0� 1%	� ����210 dBi 

 

+MG�� 12  

 9�: �;��� ��,��� �	���� �
� ��;+<k 

 �34( -	.	/0� 1%	� ����213 dBi  

1 3 3 6 -1 2  

2 7 0  3 0 0  3 3 0  0  3 0  6 0  9 0  

0  

–  5  

–  1 0  

–  1 5  

–  2 0  

–  2 5  

–  3 0  

–  3 5  

–  4 0  

k   =  4 .0  

2 .0  

1 .0  

0 .5  

0 .2  

0 .0  

(���������� ) 	
��
��

��
��

��� 
�

��
��

   
(d
B
)

 

  

3  ���� ����	 
��
�	 �����  

� �
�����!� ����> B"# .6��-  �� ;� g/M�� )�R )���a&� �6��� )����	h8 => 13 dBi . ������ B"# ��0�1�

� 567 ���!8� ����> B"28 �-!E@ )���<�7� ��1 �!�G� �", ��\����0Lg"���  . +:q w!��8� B"28� �� K<L�


 ]
� 567 �1��8� )�""28�
 �-!E0�� )�""28� 
�q ;�8=>  13 dBi .
tb� ;� 
-m8� Dm6-
 g/M�� ]
� 
-
e�� 
 '�� )����	h� => �</0��� ���, ���!8� ������ B"# p�67 g1�0�- k���+���Z	j %%!� )�l�"@ $  GHz 3.  

 �
�

	�� 



�
��

�
(d
B
)

 

 ����	
�)��
��
��(  
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 �����2  

���	� 
��
��� �����	� 
����� ������ ������� ��!��� "��#$� %&'  
��	� ()��� 
*+,- . (*���/ �*01�2, 345 67 
&2, 8� 9��� :4�� . GHz 3-1 

1  ����  

 �-mJ!8� )�"Y� )�7�"l $ 
� )�"Y� v��, )������ C�<��1�
 C�1�� �̀�</@ �\20� g/M� ���	� �%�7 +���/-
N��@ �
7 => �"�@ ;� k	-%�!�� +�!8� ��E@U . ?�
l �̀</J )����	h� ?�� !tE� �� ;Mq
20 dBi;� �%� 
� Q�R  .;}�<�
 

 ���	��� $ %��	�� ���!8� ������ B"# C����1� ��ITU-R F.699 �&�y8� => k%~�1 g/M�� �_\20� )����	h� ?�h 
�	Y� v��, �̀�</@ �u<M�� �-�
m�� => �</0��� g/M�� !-
�� $ . +,�
��� �
l
 ]!,� ��E@U +,�
��� !-
�� $ 4����� =�y-


� ;� +<��/8� ���	��� B"# +���1� �R> �	Y� v��, �̀�</@ �u<M�� �-�
m�� 
07 ]!,� ��E@ITU-R F.699.  

2  �������  

������� )���!�j&� 567 �!�G� ���	h ���!8� ������ B"# 
���-:  

�   ;� �%� ���	h� ����a� ��20 dBi�̀<-!�� X  

�  ��!�� s\�� C	� !��0��� k!��% !tE- ���	h� B"# ��X�/  

�  ����a&� C%��- �/��!�� s\�� g/J ��.  

�"�-
 ���!8� ������ B"# ������� )&%��8� $:  

⎪
⎪
⎪

⎩

⎪
⎪
⎪

⎨

⎧

°≤θ≤ϕ−

ϕ<θ≤ϕ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

ϕ
θ−−

ϕ<θ≤ϕ−

ϕ<θ≤⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

ϕ
θ−

=θ

180for8

forlog3214

1.08for14

08.10for12

)(

2

21

1

0

130

3

2

3

0

G

G

G

G  

(12) 

(13) 

(14) 

(15) 

���:  

  G(θ):   g/M���</@ ���0�8� ���	h� => (dBi) 

  G0:   g/J 5Wl�$ �	Y� (dBi)  

  θ:   �	Y� v��, �-
�d))���
���( 

  ϕ3:  j ��m*� �e�3 dB) )���
���(  

 = 0
1.0

1000027
G−× 

  = ϕ1 1,9 ϕ3) ����( 

 = ϕ2 ϕ1  ×  10(G0 – 6) / 32) ����(
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3  
��
�	 �����  

� �
��\20� �!�G8� )����	h ���!� ����> B"# g/M�� �_� k�  ;� �%� g/M20 dBi
� �� ������ ?�� C%��-  .
���!8� ������ B"# ��0�1�
 +���/� �"/� ��\� )����	� ����> )�""# 567 �%

^ )��"�� ��1� 567  $

�6Y� R�\0�� D�E@ )�l�"0�� +,�% N��@ �
7 => �"�@ ;� GHz 2 . +_j� 4�*� B"2�6� w!��8� B"28� +�:� �� K<L�

 ���	��� $ %��	�� B"28� ;�ITU-R F.699 .M�� ]
� 
-
e�� 
tb� ;� 
-m8� Dm6-
 g1�0�- k��� g/p�� B"# 

�1��8� )�""28�� ���!8� ������ B"# �@���8
 ���!8� ������.  

 �����3 

���	�
�� � 
���� 
���� ����� �� 
�����  


������� ���	�
��� !�"#� 
���$  

1  
����  

���
 ?�a&� �6��� )����	h� g/J �� �lP��� v��0�1� => .e68� ��� �
t-
 ��7�" K�/�� k	�/� $ �t��m� �e�j ��
k	�/8�
4	l�G��  . T/��� T_-
2 ������ �j�:M� ��\6�# ����% n�!�j�� ��7�"���
 ?�a&� �6��� )����	h� ����a& P̀�6o 

K�/�� ]	�/� $ .j� � ����*� ��6J $
k	�/8� $ ������ �j�:J �� n�!���1� ���% �� 4	l�G��  .

��- T/��� 3 

 ��m*� �e�j ����@ �� �@����@��� � T/��� $ �%��	�� .��!"�� C����1� ;7 K��@ '�� g/M��2 �t�_� '�� ����0��
 

?�a&� �6��� )����	h� �FG� ���	��� ?�� ;� ����/�� �2/0�� . T/��� s26-
4� ��l~� ��%��� w!��-
 ����0��  �� �lP�6
 ��m*� �e�j
 g/M��	h� $��7�"���
 ?�a&� �6��� )���� .�1��
6� ]!,� V���	� w!��- ��J.  

2  �������  

� C��� B"# �� n!�\-k	�/8� $ �7�"��� ���	t6� 
��<�<�� C��� B"# ��
 ��1U� ���
6� .��"� 4	l�G�� k	�/� $ 
�� 
��1U� ���
6� 
� 
������ ���
� ��> .��"� K�/�� .���!\�� ?��
 �7�"��� ���	h� ����a� v��0�1� ;Mq )D => �̀%�0�1� 

 ������� �y�W��)�-
!M�� )��L�
��� $:(  

  
0U

U
D

M=  (16) 

 ∫∫
π

π−

π

π−
ϕθθθϕ

π
=

2/

2/

0 dd)cos()()(
4

1
FFU (17) 

f��:  

  UM :  ������ �j�:J 5Wl�  

  U0 :  w�0�� �
W� ����> �j�:J  

  ϕ :  k	�/� $ �-
�dK�/��   

  θ :  8� $ �-
�dk	�/4	l�G��   
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  F(ϕ) :  k	�/� $ ������ �j�:JK�/��  

  F(θ) :  k	�/8� $ ������ �j�:J4	l�G��   

n�!�j� 567 ������� ��7!\�� V"��� $ �7�"��� ���	h�
 ?�a&� +��� ���	h� ����a� }T���
k	�/� $ ������ �j�:J ��  
���1� ���% 
� 
���� ���% ��> �� K�/��.  

1.2  �	
��
	�� ����� ��	�� ����� �	��� �  

 �j�:M�� ���% �	M� �� n!�\-F(ϕ)4����J �
����8� ���
�� kR �7�"��� ���	h� ������ A:  

  ⎟
⎠

⎞
⎜
⎝

⎛ ϕ−ϕ=ϕ
2

)( s
UF  (18) 

f��  

  ϕs :  ��"��� ��m� �e�j  
  U(x) = 1         for    x ≥ 0 (19)  
  U(x) = 0         for   x < 0  

��
�� s� ���j
�1U� 
� �
����8� �n!�\- A�7�"l ���	� $ ������ �j�:M� ��	�/8� $ ������ �j�:J �"�� �� k 4	l�G�� 
��%��8� $:  

  22
θe)( aF −=θ  (20) 

f��:  

  
2

3

2

3

2 773.22
)5.0(ln

θ
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

θ
×−=a  (21) 

 θ3:   ���
l ��m� �e�jdB 3 ���	h	�/8� $ k 4	l�G�� ))���
���.(  

1� ;7 ��0-
 ���%��8� C�
<�(18)
 (20) ��%��8�� (17)�6- �� :  

  ∫ ∫
π

π−

π

π−

− θθϕ⎟
⎠

⎞
⎜
⎝

⎛ ϕ−ϕ
π

=
2/

2/

θ
0 d)cos(ed

24

1 22
as

UU  (22) 

�6W\0� �6��M� ���@ H�/* �7�_8� +��M��� ��� +� ;Mq
 . �-
�m�� $ +��M��� H�/� T�-
ϕ�!��<� ��-!"�  . ;M�
 �-
�m�� $ +��M��� H�/�θ��	�� !:J�  . �-
�m�� +��M� H�/� ;Mq
θ�l�  )&%��� 
� C

� $ ����0�� �
��
 �̀�

)��"�8�
 g1�0�� %

*� �%
��� . �<W�� ��6��M��� %

� )uy� �R> p@� ��P- p@� uI± ∞ �-
�m�� $ +��M��� ��j θ ��0- 
������� ��6y8� ��%��8� ;�:  

  22222
4/1

2/

2/

e
1

d)(cosed)cos(e aaa

a

−
π

π−

∞

∞−

θ−θ− π=θθ≈θθ∫ ∫  (23) 

� �R> �	M� 
l �� �̀7	@ �@!�
 �"�/� �y�� ?��
 ��7�"��� )����	h� ����a� H�/� $ �u<J �
��j )�R �t�l% 567 KEj�
z�	1 
� 567 ?�a&� �6��� )����	h�
.  

 +��M��� �t�j H!��- '�� �l
�� K</�
���0��P�� +��M��� ;� ���0�8� . +��M��� g/�
���0�8� ]!/��� �tb� +��M� k� 
 ��%��8� ;�(23)�\� T�l �
7 => �</0���  �y��<�� ��m*� �edB 3 $ �1	y�� V��!��� ��-!� C����1�� 24 V� �t�@����
 �"�@ 
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 +��M�6� �!��08� �y�W�� D
2�/� '�� ���������0��P�� ��%��8� ;�  ���� �tb� $ (23)) . ���0�8� +��M��� g/3� ����*��
 p�-!��0� g</�
 ]
8� $ ���l� ��-!"�0�π/20�� �\7�_� K�
 ����(. �e�j T�l ;� %
�� �6:�U� ����@ C

b� �<-
 

 ��m*�dB 3k	�/8� $ 4	l�G��  . ��m� �e�j s� ���j p@� C

b� �<-
dB �t�-
�d °45 ;7 �a�0�� T���� �� Z!\�� +�- 
���0��P�� +��M���
 ���0�8� +��M���. ;7% 0.03 . �-
�m� )�e�\�� => �</0��� ���°25 +l� 
� D

�� �̀1�1� F"�� ��j .

 ��%��8� g/o
(22)4���� 	e0�� 567 ��	t/� �¡� :  

  09.11

2

3
3

0 e
773.24

θ

×π
π
θϕ

= s

U  (24) 

 C

b�1  

 ���	
�� � 
�	������ ��	���� ������� �����(23)  
�	
��� ��	�� �!��� "	�# �  

 ����� ���	 �
��dB 3
   
������ ������� )����(  ����� ����� ���������� �  

����� �!"� 

(%) 

45 1,116449558 1,116116449 0,0298 

25 0,67747088 0,67747088 0,0000 

20 0,549744213 0,549744213 0,0000 

15 0,416896869 0,416896869 0,0000 

10 0,280137168 0,280137168 0,0000 

5 0,140734555 0,140734558 0,0000 

  
 ���%��8� ;7 ��0-
(18)
 (20) �� UM = 1 . ��%��8�
 T���� ?�� C�
<�1��
(24) ��%��8� V� (26) ���	h� ����a� ��0� 

8� ��m*� �e�j kR �7�"���k	�/�
 4	l�G�� k	�/8� $ ��"� ������� �lP��� $ K�/��   

  09.11

2

3

3

e
805.11

θ

θϕ
=

s

D  (25) 

��-%�!��� �-�
m�� ;7 x�- f�� . ��%��8� ��j )���
��� �t07 x�- ��
07 ���(25)4����J �<W� :  

  40036

2

3

3

e
75038

θ

θϕ
=

s

D  (26) 

 ��%��8� s6��� ?�a&� +��� ���	� .6��- ���j p@� ��P-(26)�<W�� :  

  40036

2

3

3

e
64.107

θ

θ
=D  (27a) 

 ���	h� ����> �z�\J �� n�!�j��
% 100J �	M- A!J�� & p���/, ��
 �-
�/�� p����a�
 ?�a&� +��� ���	h� g/ .
 ��m� �e�j )�R ?�a&� �6��� )����	� s� ���j
 Q�R 567 �
P7
dB 3 ¢6<� °45� �� �lP��� B�/<� ;Mq
  g/M�

k	�/8� $ ?�� ��m*� �e�j

��
 ?�
l ��1� +��7 V�
 CP, ;� 4	l�G��  . ;� +l� ��
07 ���0�� F"�� �</@ �	M�
% 6.  



������� ITU-R  F.1336-2  19

  
3

0

64.107

θ
≈G  (27b) 

2.2  ��!$ ����% 
&	'� 
(��� �	
�) ��	��  

��1U� ���
�� ���� �� �7�"l ���	h ������ �j�:J �1��% $ ��@�:�� ���*� .�6- �� ���,
:  

  22

e)( ϕ−=ϕ b
F  (28) 

f��:  

  
2

2 2
)5.0(ln ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

ϕ
×−=

s

b  (29) 

 �-
�m��
ϕ
s

 ��m� �e�j �� dB 3��"�6� .  

 ���%��8� C�
<�1��
(20)
 (28) ��%��8�� (14) A�̀���0�� & P̀��M� ���0�8� +��M��� �<W3- f�� +��M��� %

� u�y��
 
 ��%��8� $ ����0�� ?�� v��%��
(16)������� ��<-!���� �y�W�� ��0� A�h�
<�1�
 :  

  09.11

2

3

3

e
09.11

θ

θϕ
=

s

D  (30) 

T�l �h �-�
m�� f����-%�!��� �t07 x�- 
-
e��� ��</�  . ��%��8� �<W� )���% => �-�
m�� +-	e��
(30)4����J :  

  40036

2

3

3

e
40036

θ

θϕ
=

s

D  (31) 

 ���%��8� �@���� ]
�
(26)
 (31) . ;� T6l� Q6� 
� ��-!"�� ?�� $ ���/� 
07 ����a&�� Z��\�� �� !tE-dB 0,3.  

%��8� ����@ �@���� �y<0-
 ��(31) ���	h� ����> �z�\M� DdP8� uLF��� 
-
o +�� ;� �1��8� )�""28� ;� %
7 V� 
+���8� $ ]!,U� )���/8�
 . $ +��6� ���W8� ��7�"��� )����	h�� ����� )�1����� ;� ���7	�£ &> �̀���� 
�	� &


 Z�"0��25,25 GHz
 GHz 29,5 . �PMG�� n!�-
13
 14 )�""# ��/�� ��� ]
� K�/�� k	�/� $ ��7	�
k	�/8�
 �PMG��
 A4�	��� 567 4	l�G�� 15
 16��@�:�� �7	��� )�""#  . �6MG�� $
13
 14 ��m*� �e�j �-
�d ¢6<� 

dB 3k	�/� $  K�/�� °90k	�/8� $
  4	l�G�� °2,5A ��%��8� ;7 �a�0�� ����a&� ¢6<�
 (31) dB 22,1 .<0-
 �@���� �y
 �� w
�!�- ���� g/J V� ������ ?��20,5
 21,4 dB Z�"0�� $ +����� ���	h�� .6��- ���j GHz 29,5-25,5 . n�!�j��


 g/M�� ��G0 4�	� Z�"0�� $ +����� ���	h� $ GHz 28 ��
�� +l� dB 0,7+����� ;7 ����1� p@�
 A����a&� ;�  

��	� �1�1U�m� p07 T�0- �� X z�",U� $ 
-�
-�m� V� �̀%!� g1�0�-��m*� �e�j  . �</@ F"�� ¢6<-
% 6 �e�\�� 
07 

°45 .xJ� F", => xJ� ��m� �e�j k%~�
 . $ ��m*� �e�j
 g/M�� �� ��<-!���� �<� �lP��� ��j Q�R => �̀%�0�1�

������� �� �7�"l ���	�:  

  
3

0

00031

θϕ
≈

s

G  (32a) 

"�� [\0�
 �6MG�� => �̀%�0�1�
 ��-!15
 16 �7�"l ���	� $ ��m*� �e�j
 g/M�� �� ��<-!���� �<� �lP��� �	M� 
4����J:  

  
3

0

00034

θϕ
≈

s

G  (32b) 
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+MG�� 13  

��	 
�� 
 ������ ����� �����°90����	 � ����� .���
��	  

 ������ �GHz 29,5-27,5�  !���"#$%� &�'(�� )�*�+,� -���� �	�  
��/�0%� 1� �2���� 3���� !45�� 1	 6$���� �78�  

(28)��� �7�� 9:0��� -�� !:���- �	�;� �<�=� >dB 3  
 ��*�-�	� �?$�=%�°90����	 � �����   

  

����� ����	)
��
����(

 �
��
�

���
 �

	

��
�

(d
B
)
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+MG�� 14 

 
��	 
�� ������ ����� �����°90��	 ��� �����  

 ������ �GHz 29,5-27,5 

 

 +MG��15  

 ������ ��@ ����� ����� 
��°90����	 �  ����� ) B����#�v(  
� ������ D(E ����FdBi 15 :°90)  //$��� � !�0� ���� �����GHz 26(  

  

  

����
�� ����	)
��
����( 

 �
��
�

���
 �

	

��
�

(d
B
)

 

����� ����	)
��
����( 

 �
��
�

���
 �

	

��
�

(d
B
)
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 +MG��16  

 ������ ��@ ����� ����� 
��°90����%� � ���5��  H) B����#�V(  
 ������ D(E ����FdBi 15 :°12)  //$��� � !�0� ���� �����GHz 26(  

 

3  ����� ����	 
����
��� ������� ������� �� ������  

 ��%��8� ;� �t�67 C	W*� � '�� ����0�� �@���� 	� T/��� ��� ;� n!y��(27)�� ���	h�� ��6��8�
  ����0�� V� ?�a&� +�
 .e68� $ �W268�
 �%��	�� ����/��1���	��� ?�� .  

����� �j�:J ;7 x�-
k	�/8� $ ?�a&� +��� ���	h �������� �lP���� 4	l�G�� :  

  θ=θ N
F

2cos)(  (33) 

 ��%��8� C�
<�1��
(33) ��%��8�� (17) n�!�j��
 F(ϕ) = 1��0- A:  

  ∫∫
π

π−

π

π−
ϕθθθ

π
=

2/

2/

2
0 dd)cos()(cos

4

1 N
U  34)( 

k
�/- �7�_8� +��M��� ���
:  

  
!)!12(

!)!2(
0 +

=
N

N
U  35)( 

 f��(2N)!!	� �\��  ¤� �%
^ %�
7U� H!� +��� ((2N)…6.4.2)
 (2N + 1)!!�̀_-� 	�
 �\��  H!� +��� 
 ¤� �%
^ %�
7�((2N + 1)…5.3.1).  

4����J ����a&� �<W� ��M�
:  

  
!)!2(

!)!12(

N

N
D

+=  (36) 

 ��m� �e�j ;7 x�-
dB 3k	�/8� $ ������� �lP���� 4	l�G�� :  

  ( )N2/11
3 5.0cos2

−=θ  (37) 

������� �	
��)��
�����( 

 �
��
�

���
 �

	

��
�

(d
B
)
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 C

b� D
�-
2 ��%��8� $ ���
8� .��!"��
 )���!�j&� => �̀%�0�1� ��	/Y� ����a&� T�l �� �@���� (27) Q6� ��
 
 ���%��8� v��0�1� $ ��
2�/8�(36) 
(37) . ��%��8� => �
0�/8� ����0�� �� ��P-
(27) => �
0�/8� ����0�� ;� +_j� 

 ���%��8�(36)
 (37) . ��%��8� ��j )&�*� V�� $
(27) C����1� ;7 �a�0�� T���� ;� +�6�� +l� ����a� ���l �"�� 
 ���%��8�(36)
 (37) . r/0�� F"��
(%)6� x�- ��
07 A)�!-
����� p07 +<�/-
  ��m� �e�\� �</0���dB 3k	�/8� $  

 ���
l �-
�m� 4	l�G��°65 ��
 ���l 567� => +W- A �% 2.27 . F"��
(dB)��� p07 x�- ���*� ?�� $ +<�/-
¢6<-
   
–dB 0.062 .
 sl�0�- r/0�� F"��(%) F"��
 (dB) ��m*� �e�j �-�
m� dB 3 ;7 +�� '�� °65�̀���
�  �e�j sl�0� V� 

 ��m*�dB 3 . ��m� �e�\� .6��- ���j
dB 3 �-
�m� °16 r/0�� F"�� ��j A(%) H���-  �%0.01 F"�� +�-
 (dB);7   
dB 0.0085. C

b� $ �<8� Q��� p��G� T���� 
J~-
 2 �� w
�!�� '�� T����� .6��- ���j 2N
 10 000)  �e�j C%���

 ��m�dB 3 �-
�m� °1.35�
  ���
l ����adB 19.02 (���-!"�� ����@ H����.  

 C

b�2  

 ���	
�� �	

��	� ������ �	��� ���	� �	������ ���	�� ���	��(27a)  

 ����	
�� �	

��	� ������ ���	���!(36)! (37) 

2N 

θ3 

)��������( 
) ��	�
��((37) 

�
����� 

(dB) 

 ��	�
��((36) 

�
����� 

(dB) 

 ��	�
��((27a) 

����� ���� 
(%) 

���� 
(dB) 

2 90,0000 1,7609 1,7437 0,98– 0,0172– 

4 65,5302 2,7300 2,6677 2,28– 0,0623– 

6 54,0272 3,3995 3,3419 1,69– 0,0576– 

8 47,0161 3,9110 3,8610 1,28– 0,0500– 

10 42,1747 4,3249 4,2814 1,01– 0,0435– 

12 38,5746 4,6726 4,6343 0,82– 0,0383– 

14 35,7624 4,9722 4,9381 0,69– 0,0341– 

16 33,4873 5,2355 5,2047 0,59– 0,0307– 

18 31,5975 5,4703 5,4423 0,51– 0,0280– 

20 29,9953 5,6822 5,6565 0,45– 0,0256– 

22 28,6145 5,8752 5,8516 0,40– 0,0237– 

24 27,4083 6,0525 6,0305 0,36– 0,0220– 

26 26,3428 6,2164 6,1959 0,33– 0,0205– 

28 25,3927 6,3688 6,3496 0,30– 0,0192– 

30 24,5384 6,5112 6,4931 0,28– 0,0181– 

32 23,7649 6,6449 6,6278 0,26– 0,0171– 

34 23,0603 6,7708 6,7545 0,24– 0,0162– 

36 22,4148 6,8897 6,8743 0,22– 0,0154– 

38 21,8206 7,0026 6,9879 0,21– 0,0147– 

40 21,2714 7,1098 7,0958 0,20– 0,0140– 

42 20,7616 7,2120 7,1986 0,19– 0,013–4 

44 20,2868 7,3096 7,2967 0,18– 0,0129– 

46 19,8431 7,4030 7,3906 0,17– 0,0124– 

48 19,4274 7,4925 7,4806 0,16– 0,0119– 
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 C

b�2 )����( 

2N 
θ3 

)��������( 
) ��	�
��((37) 

�
����� 

(dB) 

 ��	�
��((36) 

�
����� 

(dB) 

 ��	�
��((27a) 

����� ���� 
(%) 

���� 
(dB) 

50 19,0367 7,5785 7,5671 0,15– 0,0115– 

52 18,6687 7,6613 7,6502 0,14– 0,0111– 

54 18,3212 7,7410 7,7302 0,14– 0,0107– 

56 17,9924 7,8178 7,8075 0,13– 0,0104– 

58 17,6808 7,8921 7,8820 0,13– 0,0100– 

60 17,3847 7,9638 7,9541 0,12– 0,0097– 

62 17,1031 8,0333 8,0239 0,12– 0,0094– 

64 16,8347 8,1007 8,0915 0,11– 0,0092– 

66 16,5786 8,1660 8,1571 0,11– 0,0089– 

68 16,3338 8,2294 8,2207 0,11– 0,0087– 

70 16,0996 8,2910 8,2825 0,10– 0,0085– 

72 15,8751 8,3509 8,3426 0,10– 0,0083– 

74 15,6598 8,4092 8,4011 0,10– 0,0081– 

  

4  ����������	 
��
�  

h�
 ?�a&� �6��� )����	h� $ g/M��
 ��m*� �e�j �� �lP���
 ����a&� H�/� ��	t1 ���� '�� )&%��8� K��
 )����	
 �-	-%�!�� )P�!8� ��E@� $ ��
2�/8�
 ��7�"���P-MP )����	h� ����a� 
-
o +�� ;� ������� )&%��8� C����1� w!��-
 

��7�"���:  

  40036

2

3

3

e

θ

θϕ
=

s

k
D  (38) 

f��:  

  
°≤ϕ=
°>ϕ=

120for40036

120for75038

s

s

k

k  39)( 


ϕ
s

 ��m� �e�j �� dB 3k	�/� $ +��- �7�"l ���	h  K�/�� ))���
��� ( AK�/�� $ ��!�\� ��1� ����> �j�:M�

θ3  �� ��m*� �e�jdB 3k	�/8� $ +��- �7�"l ���	h  4	l�G�� ))���
���.(  

 ��m*� 
-
o $ ������� �"/<8� ��%��8� D�
2�1� w!��- ?�a&� �6��� )����	h�� .6��- ���j
dB 3k	�/8� $  �̀�67 4	l�G�� 
�
�� g/M�� �F� )�
�	��� dBi)  ��%��8�)27b:((  

01.0

3 106.107
G−×≈θ  

 �7�"��� ���	h� g/J �� �lP��� �<� '�� ������� ��<-!���� �<� ��%��8� D�
2�1� �̀�l~� w!��-
(dBi) ��m*� )�e�j
 dB 3 
k	�/8� $�/�
 4	l�G�� k	 ��"��� ¢6<- f�� K�/�� °120 ��m*� �e�j +��
 A+l� 
� dB 3k	�/8� $  ;7 4	l�G�� 

°45)  ��%��8�)32a:((  

s

G

ϕ
×≈θ

− 01.0

3

1000031  
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 ��%��8� $ �0�_�8� ������@&� ��"08� C
�0� ��\�J 
-
o g6"�-(39) vR��0�� 567 �t��<"� 
07 ��<-!���� )���/*� �l% 
-
o
 
$ +��6� ���W8� )���a&� �6���
 ��7�"��� )����	t6� �/��8� �-	-%�!�� )P�!8� ��E@� P-MP ;� ]
8� )�l�"@ $ 

GHz 1 4�	� => GHz 70�1��
�� ;� �̀
-m� .  

 ������4 

��	� 
��� 
������� 
���� ��� ������� ������ ��! ���" #�$%&  
������ ����' (� )& *
��+ ,�-'�.�� /0��� ������ �12�"  

1  �������  

 +MG�� �<-17h� B"28�  $ �7�"l ���	� g/J 
-
o ���- k��� �1�1U� �1
0�	Y� v��, ����<�7� �-
�d . n!�\-

)�0�/�� �	^ C	� 567 5WlU� ������ ?�a� V�-
 X�-
!M�� )��L�
��� D�E@ mJ!� $ �	�	� ���	h� ��:k	�/8�
  x-y 

k	�/8� 	��6Y� ��jU� A)�0���� �	^ ��\��&� ]	�/� T_-
 X 
u0 g/J 
-
o $ p��a� +���/- 
��
 p��� 	� 
�7�"��� ���	h�.  

 +MG��17 

��	�
� �
����� �� ������ ������� �� �� ����!� ����" ���#  

  
�� ���1�1� ����!j 567 z�!��� ��� D	�-:  

�   �	M-��\J g/M�� �dB 3 
07 
��<�� C��� B"28  ��\��&�
 K�/�� '-
�d ��&
� ;-
�<� p¦��6�>�6�̀�� 
 +MG�� �<- ��J2.  

�   ��m*� �e�\� �	Y� v��, ����<�7� �-
�d 
07 �7�"��� ���	h� g/J V_�dB 3� �e�j
  p1��l 
07 ���	h� ��m
k	�/8� $ �
�	�� p���
 )�0�/�� �	^ T_- k��� u0)  +MG��1.(  
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5"��
��l!�� ������  Kl~� ��1� 567 
-
/��� B, g/M� �) �!�\��3.3 ;� ���� ��%��8� $
 (32a) �e�j ��7�!� V� A
 ��m*�dB 3k	�/8�
 K�/�� k	�/� $ �7�"��� ���	t6�  4	l�G�� ϕ3
 θ3.  

  
33

0

00031

θϕ
=G  (40) 

Y� v��, ����<�7� �-
�d $ �7�"��� ���	h� g/J T���� $ =
U� �6�!8�
 �	ϕ
 θ ������ 
-
o �� α.  => �������
 
 +MG��17 N��0�� �U �̀!E@
 abc ���l �"�� A�-
�m�� T��l �̀-
!J �̀:6:� +MG� α��%��8� $ :  

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

ϕ
θ=α −

sin

tan
tan

1  (41a) 

 ]	�/8� $ �	Y� v��, �-
�m�� �"��
adc��%��8� $ :  

  ( )θϕ=ψ −
α coscoscos

1  (41b) 

 +MG��18  

 ���$� �%�& ���#dB 3 ���$ �'()�'��* ��+
,��!� -�.� ����" �	� α   

  

�6�> ��m*� �� ���6 ��m*� �e�j ��j A+MG�� ���dB 3 ]	�/8� $ �7�"��� ���	t6� adc �lP��� $ %
e�� :  

  
2

3

2

3
2

sincos1

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
α+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

ϕ
α=

ψα
  (42a) 


�  

ϕ
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2

3

2

3

sincos

1

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
α+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

ϕ
α

=ψα  (42b) 

 

 %��	�� ���!8� ������ B"# D�
2�1�� �̀�l~� �	Y� v��, ����<�7&� �-
�m�� ?�� 
07 �7�"��� ���	h� g/J 
-
o ;Mq

 ��!�\�� $1.3
 2.3 ;� �������	��� ?�� $ .  

2  ����  

 v��, ����<�7� �-
�d 
07 �7�"l ���	� g/J T���� +�� ;� z�!��� ��� �"7��	Y� . ;� 
-m� z�!�> k�
!_�� ;�

��7�"��� )����	h�� .6��- ���j z�!��� ��� C����1� p�j �6W- k��� ]
8� ���� +�� ;� )�1��
�� . �� )���%�� ;� 5�!-


 ��7�"l )����	h �/��� )�""2� D
���+�� ;��	J�8� ]
8� 
-
e�� D����� .  

 ������5  

�� �	

�� �
	���� �������	������� ������� �	��� �	�!� ��"	�  
 �#$	%�� ����&���� ��'()� * ���	
+�� �	����,�-(FWS) .���� /" M-MP  

01�2#�� ���	34�� ����2+#�� * 5�2�#67�  

1  �����	  

 ���	��� ?�� §� +�¨) ���!�\��2.2
 2.3 ;� ���� ( +:� ����!� ����> )�""# =>T�����-	/� �"1	�8�  c	W\�� )
 ?�a&� �6��� )����	h� ;� +J $ ��<@�b�)K�/�� $ ( +,�
��� �%�W� ���� $ �t��
2�1� ;Mq '�� A��7�"��� )����	h�


Kl	�� uy�� �uy�8� +,�
��� �%�W� 
� �%
��8�.  

T��0�� +,�
��� +:� A+,�
��� �0M�U ���W�> +�6o $ C����1&� +�� ;�
 ]!,� ����@ ;�
 ��6��/�� ��E@U� ��� ;7 
 )�""28 ���-� vR	| V�
 k�
!_�� ;� A����:�� ��M61P�� ��E@U� )�"^ ;� u<J %
7 $ n�U� => �</0��� �!��/8�

.e68� ��� ;� �u,U� D�/lU� $ �<� 	� ��J ��7	0�� ������.  

 )&�% 567 ������� ����-!�� vR��0�� ?�� �� �E�P� �y<0-
<���� �%�W� ;7 T��0�� +,�
��� )���/� $ �t��<"� 
07 
K�/�� �-�
d ;� u<J ]
� 567 �7d	� +,�
��� �%�W� K@�J �R> &> ����, ����@ => k%~- 
l �%
���/��\��&� . Q���


?P7� ��	J�8� )&�*� $ &> )�""28� ?�� C����1�� 5�	- &.  

2  
���	 �
��� ����	��
� ����� ����  

n�U� => �</0��� !��/� �6��1 D�E@ ;7 T��0�� +,�
�6� 9�M8� +�6e��� z�!�> 
07 . $ ��E@U� ?�� ;� +�6l %
7 ;7 
�
 ���j Q�R
 ������� �"1	�8� T����� �t07 x�8� ��<@�b� c	W\�� )�""# C����1� �y<0- ����:�� ��
�� )�"^ ;� u<J %
7

l�	�� ��\��&� �-�
m� .6��- ;� ]
8� $ ��°0 => °90)  .e68� !E@�1:(  
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  ( )

⎪
⎪
⎪
⎪

⎩

⎪
⎪
⎪
⎪

⎨

⎧

°≤θ≤θθ+
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
+⎟

⎟
⎠

⎞
⎜
⎜
⎝

⎛

θ
θ

+−

θ<θ≤θθ+++−

θ<θ≤⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
θ−

=θ
−

90for)(log1012

for)(1log1012

0for12

)(

3

5.1

3

0

340

4

2

3

0

FkG

FkG

G

G  (43a) 

V�:  

  ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

θ
πθ=θ 1.0
4

3
sin9.0log10)(

3

2
F  (43b) 

 T���� %
e�� f��θ
 θ3
 θ4
  G0
 k �!�\�� $ �t07 x�-
 1.2 ;� �������	��� ?�� §� $ �%��	�� .  

�/01.� 1  ���"| )����	� 567 k	"0� '�� )&�*� $  ]
8� $ �6��7 GHz 3-1 ��6�8� k
�/� �� �y<0- Ak 0.7.  

�/01.� 2  � ]
8� $ ��<@�b� c	W\�� $ ;}/^ z�%� V� )����	� 567 k	"0� '�� )&�*� $ GHz 3-1 .6��- ���j
 
 ]
8� $ �6����� )����	h� V��iGHz 70-3 k
�/� �� ��6��6� �y<0- 0.  

3  ����	��
� ����� �����������	   

 $ ��E@U� ?�� ;� +�6��� ��<�� ;7 
� n�U� => �</0��� !��/� �6��1 D�E@ ;7 T��0�� +,�
�6� 9�M� +�6o z�!�> 
07
 ���j Q�R
 A������� �"1	�8� T����� �t07 x�8� ��<@�b� c	W\�� )�""# C����1� �y<0- A����:�� ��
�� )�"^ ;� u<J %
7

&� �-�
m� .6��- �� ��l�	�� ��\��°0
 °90 �� ��l�	�� K�/�� �-�
m�
 �°180
 °180:  
  G(φ, θ) = Gref(x)  (44) 

f��:  
2

0 12)( xGxGref −=  =>  396.10 <≤ x  

)()log(1512)( 0 xFxGxG refref +−−=   =>        x≤396,1  

( ) )1,075,0sin9.0log(10)( 2 += xxFref π  

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

ϕ
θ=α

sin

tan
arctan  

2

3

2

3

sincos

1

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

θ
α+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

ϕ
α

=ψα  

)���
���     
2

3

2

3

22

33

)cossin()sin(

)cos(sin)(sin

θ⋅ϕ⋅θ+θ⋅ϕ
θ⋅ϕ+θθ⋅ϕ=   

)���
���         )cosarccos(cos θ⋅ϕ=ψ    

αψψ= /x  
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!�\�� $ %
e�� )��6�8�
 �uy�8� T���� V�� f��� 1.3 ;� ���� $���	��� ?�� §� .  

��	
�� 1  ��j )�R ��7�"l )����	� D�
2�1� 
07  ��m� �edB 3 ;� +l� K�/�� ]	�/� $ °120 �lP��� �	M� A�̀<-!�� 
 ��m� �e�j
 5WlU� g/M�� ��dB 3	�/8�
 K�/�� ]	�/� $ k 4����J �̀�l~� 4	l�G�� ) .e68�3:(  

  
3

1.0

3

01000031

ϕ
×=θ

− G

    

 �!�\�� $ �%
^ )��6�8� V�� f��1.3 ;�  ����$���	��� ?�� §� .  

 ������6  

 ��	
��
� �
������ ���
�� ���
 ������ �
������
�
�  
 ��GHz 1� GHz 6 !
"#$�% ����&�� '��

�  (�)*
� '�+�  

1   �� ������	
 ����

�
 ������ ���GHz 1� GHz 6  

1.1  �
���� �����  

 )��"�� => �̀%�0�1� g1�0� vR	| 567 C	W*� +�� ;�8 �-����� ���	� B"2 +��-$��
��� )�%%!��� %%!�6�  GHz 2 
K��%�  ��6��k $ ]!� �8 �6L�� ��-!"� ��7�"��� )����	h� $ ��
2�/8� )&%��8� $ ��<@�b� c	W\�� �-	1 z�%� +�:��� 

8� )����	h� $ ��
2�/8� )&%��?�a&� �6���.  

 ��6�� V� �7�"l ���	� B"# �� ;}�<�
k# C%��- !\� ;� xJ�  �/��� )����	� )�"" �}
�� & ��<@�b� �t�	Wj )�-	1
?�a&� �6��� )����	h� )&%��� D�
2�1� 
07 �̀
�� =
U�.  

 ��%��8� .<"0�
(45)�
���� T��� ��7�"��� )����	h� )�""# 567 :  
2

0 12)( xGxGref −=     =>10 <≤ x  

)log(1012)( 5.1

0 kxGxGref ++−= −    => x≤1  (45)  

 ���	��� ?�� §� $ %��	�� �-!���� [\@ 	� )��6�8� V�� �-!��
) �!�\��1.3 ;� ����.(  

@� 
�	- p@� ��P-
 $ uy� ��"�x = 1 ��%��8� $ (45).  

 �	M� ��
07
k = 0,7 ��@�:�� ��%��8� �<W� P̀:� Gref (x) = 9,7 � G0�%��8� 5�<� ��0�� A =
U� �Gref (x) = 12  � G0 A
) ?�
l Z!\��dB 2�̀<-!��  .( ��6�8� T�l �	M� ��
07 +l� ��"�@&� ��� �<W-
k!y�� .  

 �uyW�� )�<-!���� D
2�/� AZ%� +MG� ���%��8� �� ��"�@&� �"�@ 
-
o +�� ;�
)k >> 1
  xk ;� �<-!l ��"�@� �"�@ A1(:   

  

10ln6

5
1

)10ln(

10
12)ln(

)10ln(

10
1212

12)log(1012)(

5.1

0

2

2

0

5.1

0

k
x

kkxx

xGkxGxG

k

k

kkkref

−≈⇒

+−≈++−=−⇒

−=++−=

−

−
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�
 ��"�@&� �"�@ ;7 n���/- �� ;Mq ��M"1 " ����7 ��"�@� �"�0�xk.  

 ��%��8� �<W�
(45)4����J :  
2

0 12)( xGxGref −=      =>kxx <≤0  
    (46) 

)log(1012)( 5.1

0 kxGxGref ++−= −          =>xxk ≤  

V�:  

  kxk 36.01−=    

2.1  �� ����������� ��	
� �  

07 %
o �� .<1
 �� ]
8� $ �6����� )����	h� n�!IU �\6�# )&%��8 ���� ��0� �� �/��8� )����	h� )�""# !-
�� 
GHz 1
 GHz 6�̀<-!�� .  

3.1   ������ ���� !"#$ ����%�k  

 ��6�8�� .6��8� +�6e��� ����@ !tE�kb� $ �/��8� )����	h� )�""#
  C

3 .
�<-C

b� ���  ;/Y� z�%U� �̀_-� 
�u,U� !G��� )�	0/�� �!�j CP, ��<@�b� c	W\6�.  

4.1   ������ &'"(k�)��� �*��+ ,�- .�)   

 ��6�8� ��"| ���l V� �
���� ����� ���	� B"# �� �̀�	�7 !tE-k = 0,7)  �!�\��2.e68� ��� ;�  ( )&�*� TE�� $ T�P�
) ������"�0�� r@�b� s\��.(  


�� ��P-���l  k = 0�0/^ ��<@�� c	Wj z�%F� ��7�"��� )����	h� )�""# V� .j�	�� �� )�""28� ?�h ���� .  

 C

b�3  

 ������ ����k������� /0+ 1   

 �������ITU-R F.1336 1997 2000 

2006 

) ��� � ����	
��
�
��	��(  

GHz 3-1  1,5 = k 0,7 = k 0,7 = k ���� �� 
���	 

GHz 70-3  1,5 = k 0 = k 0 = k 


���
 ���� ��
�� 

 ���� ��
��� 

GHz 70-1 0 = k 0 = k 0 = k 

GHz 3-1 – 0,7 = k 

GHz 6-3 – 0 = k 

�����
 ���! :0,7 = k 

�"#�$%
 ���&�
 :0,2 = k

) �'(*%
1(  

 ���� ��
���	 

GHz 70-6 – 0 = k 0 = k 

�	�"! ��
�� 

 ���� ��
��� 

GHz 70-1 – 0 = k 0 = k 

 �'(*�1, -���.%
 /01$�2 ��	�"&�
 -���
�3�4 56.$7 ���� (46).  
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 ��%��8� C����1� �y<0-
(47)�
���� ����� �7�"l ���	� )�""28 :  
2

0 12)( xGxGref −=      =>kxx <≤0  

)log(1012)( 5.1

0 kxGxGref ++−= −      =>4<≤ xxk      (47) 

)log(15)( 0 xGxG kref −λ−=      =>4≥x  

V� :)81log(1012 kk +−=λ
 kxk 36.01−=  


  

  xk:   =
U� ��<@�b� c	W\��
 �/��!�� s\�� �� �-��!��1&� ;�_� ��"�@� �"�@  

  λk:   ��	��� +��7H	6"8�J Ko  ��<@�b� c	W\�� �� �-��!��1� ;�_- k���
 ���	h� g/
 ���e6� ��\6�� c	W\��
x = 4.  

 ��%��8� D
2�/�(47) ��!�\�� $ 1.1.3
 1.2.3 ;� ����.  

2   ������� ����	
 �
�� �
���	�
k ���
 � �������
 ����
��
 � GHz 6-1  

3�)�""#
 ���!8� B"28� �� 4���� Z!\�� g/ ����:�� )���<"��� s� ���j �
7 ��
6� �t��
l '�� �/��8� )����	h� 
�6�0�8�
  ��6��6� �<1�0� ���l !-
�� +�� ;�k .��\��&� �-
�m� �u:J T�l g/J �/��8� )�""28� ?�� K"7�
.  

 ��%��8� V� �!��<� ��<-!���� )��"�8� K@�	l A�
���� B"2� .6��- ���j
(47) n�!�j��7  ��6�8� +��k ?�
l 0,7.  

 r@�b� s\�� ]
8 �</0��� &> )���/*� !a T6j �"1	�8� T���� B"# s� ���j ���)�/��!�� s\�� zmb [��
( �
 X
����7� 
-
o +�� ;� ���% +J $ ��6�\��
 �/��8� )����	h� )�""# �� Z
!\�� "4���� F"��."  

	� ��J 4���� F"�� %
e�-
?�@%� �<�  . g/¨
Ei��� [��
 ��6�\�� ������� +<�/-
.  

 4���� F"��= ∑
=

n

i

i
E

n
1

21  
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 +MG��19  

 ��	
�� ���
� ��� �� ����� ���� ����K������� ��
�� ��!�   

  

  

 4���� F"�� H�/� �+M� )��6�� �
7 D
2�/- B"# k w
�!�� �t���l  ��0
 0,3 . +MG�� $ ����0�� !tE�
19 .
 ��6�8� ���l => !E0�� ;Mq
k���l +_jU 4��> F", +l� �"�� '��  .������ C����1� �y<0- +�6e��� ��� => �̀%�0�1�
  

k = 0,2�"1	�8� T���� ���	� )�""# $ .  

 	� !,« D�� +��7 ��7�!� ���- ��J"��y�1 ���l "
o '���-�
m�� ]
� $ �6��M�8� ��6M�� ��
��� ��%.  

������� �� ��1�1U� �!M\��
:  

�   �� �
���� �PI )�""# $ ��y�1 ���l !We0� �� �y<0-2
 dB 4X  

�   �� �"1	�8� T����� ��<@�b� c	W\�� )�""# $ ��y�1 ���l !We0� �� �y<0-0
 dB 1.  

 C

b� D
�-
4 � ��y�1 T�l H�/� ����@��"�0�� )����	h� +:� '�� �6:�¬� �� 5�	8� )&%���6.  

 �</0��� ��y�1 ���l ��j �
���� �PI )�""2� .6��- ���j
k = 0,7p� w	�/8� ]	�/8� ;�� V��  . Q�R => �j��>

 �	M�1k = 0,2�"1	�8� T����� ��<@�b� c	W\�� )�""28 �0M� ���l .  

� ����� ��	�
� 

��
�� ������ ��	

 �
�

��� 
�

�
��

�
(D

b
)

 

������ �����)��������(  

������� ��	��� �
���
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 +MG��20 

 ���
�� ���
� "�#�k������� ��
��$ ��!� %	#��   

  

 C

b�4  
��&�� ��' ()��* ����  

����� ����  

�	
 ��
���  �����k  
dBi 16 

 ������ ��	�°60 

dBi 16 

 ������ ��	�°120 

���� ���   ��	
��1.1.3 

 
�����  

0,7 = k dB 3,8  dB 2,55  

0,2 = k dB 0,8  dB 0,12  

0,4 = k dB 1,43  dB 0,57  

���� � ���� ������� 
GHz 6-1 

���	� ���! "#  
��$�%� 

 ��	
��1.2.3 

 
�����  

0,6 = k dB 1,93  dB 0,97  
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